D-Link

Building Networks for People

User’s Guide

Version 2.02
ANT24-Series
ANT70-Series

D-Link Antenna Kits




Installation

D-Link Antenna-kit

Step 1
Remove the default antenna.

|
|
|
|
|
|
|
|
L

Step 2
Connect the extension cable/antenna
onto the external connector

on device.
s

Step 3 (If needed)

o™

Install the surge protector. (You can install with
optional ANT24 series low loss cables)

Installation Guide

Note:

When install the
surge protector
between cables,
wrap the connectors as well. The lightning protection
adaptor for grounding the antenna.

With Surge protector (ANT24-SP) adaptor on an
outdoor serial is attached to the lightning protection
system (ground) of the building. All devices
downstream are then protected by the ground from
lightning strikes. It can protect your sensitive WLAN
equipments from high voltage surges caused by
dischargeand transients at the antennas. It will be
integrated in the cabling system between the antenna
and the coax-cable and must have direct ground
contact.




Installation

D-Link Antenna-kit Installation Guide

ANT24-SP Surge protector
Installation guide
for outdoor antenna-kit

Step 1
loosen the screw from the surge protector.

Optioh (1)

Step 2
get a normal conductive copper wire with 2 sides stripped long enough to be conductive,
these wires can lead high voltage surges into the grounding.

Ground

Step 3
find a conductive material nearby the antenna installation sites, connect another end of the wire
into position, there are several options:
(1) Use a long screw to stick into the ground tightly, connect another wire onto.
(2) fix or solder another end of wire onto a steel material/ bar under steel construction,
such as wall for buildings, railings or other conductive materials which set up from
the ground.

Remark:
(1) for the ground screw you use, we suggest the longer (deeper into ground) the better performance it has.
(2) please use a copper wire with diameter at least from 2.0mm, the thicker the diameter, the higher

voltage it can sustain.




ANT24-Series

Regulations

D-Link WLAN Antenna-kit
Extended range differentiation for FCC/ CE regulated regions
CE ETSI EN 300 328 regulated regions (European countries)

Based on ( ETSI EN 300 328 ), EIRP (Emitted Isotropic Radiated Power) limited within 20d B,
Therefore, the extended range might be shorter than FCC-regulated antennas.

FCC regulated regions (US, Canada...)

Using the same antenna-kit in FCC-regulated regions, the extended range
might be LONGER than CE-regulated antennas due to HIGHER output power allowance !

Please add some sentences in P4 as below

“Use of high gain antennas need careful planning to conform with EU regulations and
extra consideration to avoid causing a potential health hazard, Please always seek
qualified professional installer in all cases. “

“Outdoor Installations

Although D-Link offers a range of quality outdoor antennas, please note these devices
are designed only to be installed by a professional as there are EU regulations that need
to be considered. Cable lengths and quality will affect the antenna gain dramatically.”

EIRP limitaton:

2.4GHz~2.5GHz 5.15GHz~5.35GH: 5.47~5.725 5.75GHz~5.875GHz

point to multi-point
point to point peak.

X

point to multi-point 36dBm

FCC 30+6(antenna gain ) dBm 23dBm
then above 30dBm, one dB output
power reduced, then 3dB antenna gain
increased

point to point

_For outdooruse  EIRP = Effective,Isotropic Radiated Power
= Device Output Power + Antenna Gain - Cable Loss

Cable Loss
Model Cable Type Length Interface CageZI_isGs}—ESB) Cabi&:gs:idB)
ANT24-CBO3N LMR400 3m N plug to N jack 1 1.75
ANT24-CBO6N LMR400 6m N plug to N jack 1.85 27
ANT24-CBO9N LMR400 9m N plug to N jack 26 3.8
ANT24-ODUO3M LMR200 0.3m RP N plug to N plug 0.6 1.15
ANT24-ODU1TM LMR400 1m RP N plug to N plug 0.6 1.15
ANT24-ODU3M LMR400 3m RP N plug to N plug 1 1.75
ANT24-DLK3M LMR200 3m RP SMA plug to N plug 2 3.45
Note:

1. The loss value includes two connectors ( around 0.3~0.4dB @ 2.4GHz, 0.39~0.52dB@5GHz).

2. The longer cable you use, the more attenuation it causes, therefore, the extended range might be
shorten then a normal link with default cables.

3. To comply with EU regulation, please use longer cables which can cause enough attenuation value.

4. For more detail of connectors type, please refer to the appendix page.(P.34)

4



D-Link ANT24-0401
Ceiling Mount Antenna

Electrical specification

Frequency band

2400-2500MHz

Antenna gain 2.5~3.7dBi
VSWR 2.0 max
Polarization Linear vertical
HPBW / H-plane 360

HPBW / E-plane 58°~75°
Impedence 50 Ohms
Dimensions 2132x42 mm
Weight 110g without joint

Environmental &

Mechanical Characteristics

Temperature -10°C to 55°C
Humidity 100% @ 25°C
Lightning protection DC ground
Radome color white

Radome material ABS

Weight 100gw
Dimensions 2132 x 42 mm

/é

&

Ceiling

\\

N\

@

Horizontal coverage Vertical coverage

N

Installation Note:

. Carefully remove the antenna from the package.
Take out the Washer ( 1 pcs ) from the package
Take out the Flange washer ( 1 pcs ) as well.

Drill 2 holes through the ceiling board, one to fix
the antenna main body with wacher, another for
the antenna SMA connector linked onto extension

cable which is included within the package. 180°
-180°
|

Vertical Pattern@2.45 GHz

90°

HoDn

Package Contents:

- ANT24-0401 Antenna

- Extension Cable ( 2M )
- Mounting Kit

- Quick Installation Guide

7/ incorrect placement

-90°
Horizontal Pattern @2.45 GHz




ANT24-Series

D-Link ANT24-0500 Indoor/Outdoor
Omni-Directional Antenna

Electrical specification

Frequency band

2400-2500MHz

Antenna gain 5.0 dBi
VSWR 2.0 max
Polarization Linear vertical
HPBW / H-plane 360

HPBW / E-plane 32°

Impedence 50 Ohms
Dimensions LxWxH @19x330mm
Weight 180g without joint

Environmental &

Mechanical Characteristics

Survival wind speed

180 km/hr

Temperature -40°C to +80°C
Humidity 100% @ 25°C
Lightning protection DC ground
Radome color Gray-white
Radome material Fiberglass

Radiator material

Micro striple line

Weight 0.8kgw
Dimensions 330 x219 mm
Wall Mount Pole Mount

Overlook

ah

Vertical coverage

;l H-plane Co-polarization Pattern

Installation Note:

. use L- type mounting to fix with antenna

. use 4 plastic anchor with (4) screws to
install the antenna onto the wall.

. use band clamp ( 2pcs ) to fix the antenna
on the pole.

N =

w

incorrect placement »

Package Contents:

- ANT24-0500 Antenna A caution:

- Extension Cable (3m) Please always place the antenna vertically
- Mounting Kit to the horizontal surface, not recommend

- Quick Installation Guide to mount the antenna perpendicular to walls.

6



ANT24-Series

D-Link ANT24-0501
Indoor Omni-Directional Antenna

Electrical specification

Frequency Range 2400~2500MHz
Impedance 50Q Normal
VSWR 1.92 Max

Return Loss -10 dB Maximum
Antenna Structure Helis antenna

Peak Gain ( w/o cable loss) 5dBi

Admitted Power 1w

Cable loss( 1.5m) 2.1dB@2.45GHz
E-Plane 36 deg.

H-Plane 360 deg.

Physical Properties

Cable RG-178 50Q

Cable length 1.5M

Cable color Gray

Connector Reverse SMA plug

Antenna Material ABS, ABS+PC

Operating Temp -20°C ~ +65°C

Storage Temp -30°C ~ +75°C

Color Antenna: Metallic gray and silver

Base: Metallic gray Horizontal coverage Vertical coverage

N

Far-ficld amplitude of D-link-5dBi-H-1020.nsi

Desktop %tatgnilic )
ac|

SITEIA
QWA
a7 e

=
‘ Direct Attachment
to AP/Router

Package Contents

-One ANT24-0501 2.4GHz indoor 5dBi omni-
directional Antenna with 1.5M extension cable and
RP-SMA Jack connector

-One RP-SMA/ RP-TNC adaptor

-One registration card and international office guide

-Mounting kit includes:

-Two Crews

-Two plastic fixings

-One sticker




eries

D-Link ANT24-0501C
Indoor Omni-Directional Antenna

Electrical specification

Frequency Range

2400~2500MHz

Impedance 50Q Normal
VSWR 1.92 Max
Peak Gain 5dBi
Admitted Power T™w
E-Plane 36 deg.
H-Plane 360 deg.

Physical Properties

Connector Reverse SMA plug

Antenna Material ABS, ABS+PC

Operating Temp -20°C ~ +65°C

Storage Temp -30°C ~ +75°C

Color Antenna: Metallic gray and silver

Package Contents

ttach to AP|Router

-One ANT24-0501C 2.4GHz 5dBi indoor
omni-directional antenna with a RP-SMA

plug connector

-One RP SMA/ RP TNC adapter
-One registration card and company contact

guide

o)

Horizontal coverage Vertical coverage

Far-field amplitude of D-link-5dBi-Ha-1020.nsi

Far-field amplitude of D-link-5dBi-va-1020.nsi




D-Link DWL-50AT

ANT24-Series

Indoor Omni-Directional Antenna

Electrical specification

Frequency band

2400-2500MHz

Antenna gain 5.0dBi Typical
VSWR 2.0:1 Max.
Polarization Linear
HPBW / H-plane 360°

HPBW / E-plane 30 degree

Impedence

50 Ohms nominal

Dimensions HxXWxD

197 mm(length)

Weight

29.5gw

Installation:

/

(>

Horizontal coverage

Far-field amplitude of C147-510017-A-V.nsi
— — =
aGHz

]

Vertical coverage

1. Remove the original antenna from your
wireless device.

2. Screw the DWL-50AT RP- SMA connector
into your wireless device.

3. Adjust the antenna to the suitable direction
for extending the wireless coverage area.




ANT24-Series

D-Link DWL-R60AT
Indoor Directional Antenna

Electrical specification

Frequency band 2400-2500MHz
Antenna gain 6.0dBi Typical
VSWR 2.0:1 Max.
Polarization Linear

HPBW / H-plane 70°

HPBW / E-plane 85°

Impedence 50 Ohms nominal
Dimensions HxWxD 80x85x12.8 mm
Weight 75gw

Remove one default antenna
from the wireless device and
start to assemble!

AR
Horizontal coverage Vertical coverage

Toot Mode: E Plane

80 | [125_|

peakidBi) Angk(o)

| s |
| et | |

peskidB) Angl(e)
Fz_|po |
Freq(MHz) dve @B)

peakidBi) Angl(c)

E | s |

Installation:

1. Remove the original antenna from your
wireless device.

2. Screw the DWL-R60AT RP- SMA connector
into your wireless device.

3. Adjust the antenna to the suitable direction for
extending the wireless coverage area.

Test Mode:  Plane

Package Contents:
- DWL-R60AT Antenna
- Quick Installation Guide

w0 | 05|

peakidBi) Angk(o)

% |Fm |
| oy | o]

peakidBi) Angh(o)
fm  |[ass
Ereq(tiHz) Ave @B)

W] |

peakidBi) Angk(o)

[l

10



D-Link ANT24-0600

Indoor Directional Antenna

Electrical specification

Frequency Range

2400~2500MHz

Impedance

50Q Normal

VSWR

1.92 Max

Return Loss

-10 dB Maximum

Antenna Structure

Pateh antenna

Peak Gain ( w/o cable loss)

6.0 dBi @ 2.45GHz ( typical)

Admitted Power

1TW

Cable loss( 1.5m)

2.1dB@2.45GHz

E-Plane 68°
H-Plane 80°
Physical Properties
Cable Filotex 50Q
Antenna Cover ABS
Antenna Base PC
Operating Temp -20°C ~ +65°C
Storage Temp -30°C ~+75°C 'HORIZONTAL COVERAGE
Color White
Desktop Wall Mounting

Magnetic Attach

Package Contents

-One ANT24-0600 2.4GHz indoor 6dBi directional
Antenna with 1.5 Filotex cable and RP-SMA Jack
connector

-One RP-SMA/ RP-TNC adaptor

-One User’s QIG

-Two Crews

-Two plastic fixings

-One sticker

7

'VERTICAL COVERAGE

Far-field amplitude of D-Link 6dBi H04.nsi

11



ANT24-Series

D-Link ANT24-0700
Indoor Omni-Directional Antenna

Electrical specification

Frequency Range 2400~2500MHz
Impedance 50Q Normal
VSWR 1.92 Max

Return Loss -10 dB Maximum
Antenna Structure Helis antenna

Peak Gain ( w/o cable loss) 7dBi

Admitted Power T™w
Cable loss( 1.5m) 2.1dB@2.45GHz

E-Plane 24 deg.

H-Plane 360 deg.

Physical Properties

Cable RG-178 50Q
Cable length 15M

Cable color Gray

Connector Reverse SMA plug
Antenna Material ABS, ABS+PC
Operating Temp -20°C ~ +65°C

Storage Temp -30°C ~ +75°C

Horizontal coverage Vertical coverage

Color Antenna: Metallic gray and silver

Base: Metallic gray

Far-field amplitude of D-link-7dBi-H1-1020.nsi

Magnetic
Attach

Direct Attachment
to AP/Router

Package Contents

-D-Link ANT24-0700 2.4GHz Omni-Directional Indoor
Antenna

-SMA to TNC Adapter

-Magnetic Base with 1.5m Extension Cable

-Mounting Kit

-Installation Guide

12



D-Link ANT24-0700C

ANT24-Series

Indoor Omni-Directional Antenna

Electrical specification

Frequency Range

2400~2500MHz

Impedance

50Q Normal

VSWR

1.92 Max

Return Loss

10 dB Maximum

Antenna Structure

Helis antenna

Package Contents

Attach to APIRouter

Peak Gain ( w/o cable loss) 7dBi

Admitted Power 1w

Cable loss( 1.5m) 2.1dB@2.45GHz
E-Plane 24 deg.

H-Plane 360 deg.
Physical Properties

Cable RG-178 50Q
Cable length 1.5M

Cable color Gray

Connector Reverse SMA plug
Antenna Material ABS, ABS+PC
Operating Temp -20°C ~ +65°C
Storage Temp -30°C ~ +75°C
Color Antenna: Metallic gray and silver

Base: Metallic gray

,

-One ANT24-0700C 2.4GHz 7dBi indoor omni-
directional antenna with a RP-SMA plug connector

-One RP SMA/ RP TNC adapter

-One registration card and company contact guide

Horizontal coverage

Vertical coverage

Far-field amplitude of D-link-7dBi-H1-1020.nsi

13



ANT24-Series

D-Link ANT24-0800 Indoor/Outdoor
Omni-Directional Antenna

Electrical specification

Frequency band 2400-2500MHz
Antenna gain 8.0 dBi

VSWR 2.0 max

Polarization Linear vertical

HPBW / H-plane 360°

HPBW / E-plane 15°

Impedence 50 Ohms

Dimensions LxWxH ©19x520mm L—

Weight 340g without joint f

Environmental & Mechanical Characteristics

Remove one default antenna
from the wireless device and cﬂ Overlook

start to assemble! /
(
{

1.Antenna body -

o
2.M5-0.8 nut Horizontal coverage Vertical coverage
= 4.M5 U-Type Screw
6.Anchor
Pole(max ¢ =50mm)

|
3.M5 Washer
5.Screw

L)

incorrect placement | |
f ® \/
9

Wall

Package Contents:
- ANT24-0800 Antenna

- Extension Cable (50cm) Horizontal

- Mounting Kit A CAUTION:

- Surge Protector Please always place the antenna vertically to the
- Water-proof tape horizontal surface, not recommend to mount the
- Quick Installation Guide antenna perpendicular to the wall.

14



D-Link ANT24-0801 Indoor/Outdoor

Directional Panel Antenna

Electrical specification

Frequency 2400~2500MHz
Gain 8.5 dBi

VSWR 1.5: 1 Max
Polarization Linear, vertical
HPBW / horizontal 65°

HPBW / vertical 65

Front to back ratio 15dB

Power handling 50 W (cm)
Impedance 50 Ohms
Connector N - female

Environmental &

Mechanical Characteristics

Survival wind speed 216 km/hr
Temperature -40°C to +80°C
Humidity 95% @ 55 C°
Lightning protection DC ground
Radome color Gray-white
Radome material ABS, UV resistant
Housing material AL6063

Weight 0.3 kgw
Dimensions 120 x 120 x 43 mm

Remove one default antenna

from the wireless device and

start to assemble!

Wall mount

Installation Note:

The following parts are needed for wall mounting:

1. plastic wall anchors (4) screws

2. wall screws

3. mounting base

4. locking wheel on the mounting base
5. adjustible pivot arm

6. locking wheel for pivot arm

Overlook

Horizontal coverage

Pole mount

Package Contents:

- ANT24-0801 Antenna

- Extension Cable ( 3m )
- Mounting Kit

- Surge Protector

- Water-proof tape

- Quick Installation Guide

180°
-180°

-150°

-90°

Vertical

-90°

Horizontal




D-Link ANT24-1200

Indoor Directional Panel Antenna

Electrical specification

Frequency range

2400 MHz - 2500 MHz

Gain 12 dBi

VSWR 1.5:1Max
Polarization Linear, vertical
HPBW / horizontal 80°

HPBW / vertical 23

Front to back ratio 15dB
Downtilt 0’

Power handling 20 W(cm)
Impedance 50 Ohms
Connector SMA female

Environmental &

Mechanical Characteristics

Remove one default antenna
from the wireless device and

start to assemble!

Overlook
Survival wind speed | 180 km/hr
Temperature -10°C to +55'C
Humidity 95% @55 C
Lightning protection DC ground
Radome color White
Radome material ABS, UV resistant
Weight 19 kgw
Dimensions 330 x 93 x 20.7 mm

Wall mount with
plastic wall plug

Package Contents:

- ANT24-1200 Antenna

- Extension Cable ( 3m)
- Mounting Kit

- Quick Installation Guide

Window suction mount
with widow suction cup

Horizontal

16



-Series

D-Link ANT24-1201
Outdoor Directional Yagi Antenna

Electrical specification

Frequency range 2400 MHz - 2500 MHz
Gain 12 dBi B o
VSWR 1.5:1 Max y 3
Polarization Linear, vertical
HPBW / horizontal 50"
HPBW / vertical 50
Front to back ratio 15dB
Downtilt 0
Power handling 10 W (cm)
Impedance 50 Ohms
Overlook
Connector N female
Cable UL 198; 32cm

Environmental & Mechanical Characteristics

Survival wind speed | 216 km/hr N
Temperature -40°C to +80°C

Humidity 95% @ 25 C a——
Lightning protection DC ground

Radome color Gray-White 7

Radome material ABS, UV resistant fire retaedant Horizaontal coverage Vertical coverage
Weight 0.3 kgw
Dimensions 280 x 87x 48 mm

Remove one default antenna
from the wireless device and | %0
start to assemble!

Wall Mount Pole Mount

e~

=z TINor—L M
Z [ TN S
— -150° g
Z = .‘
Z =
2 -12060“
/ -90°
2 .
= Vertical
Z
/
2 @ Ant body @ Ant body
— @ 3/4" screw "
— o @ 2-1/2" hose clamp
@ Pole mount clip 2" mast
Package Contents:
- ANT24-1201 antenna
- Extension cable ( 50cm )
- Mounting kit
- Surge protector
- Water-proof tape
- Quick installation guide Horizontal

17




ANT24-Series

D-Link ANT24-1400
Outdoor Directional Panel Antenna

Electrical specification

Frequency range

2400 MHz - 2500 MHz

Gain 14 dBi
VSWR 1.5: 1 Max
Polarization Linear, vertical
HPBW / horizontal 30"

HPBW / vertical 30°

Front to back ratio 15dB
Downtilt 0’

Power handling 10 W (cm)
Impedance 50 Ohms
Connector N female
Cable ULA198

Environmental &

Mechanical Characteristics

Survival wind speed | 216 km/hr
Temperature -40°C to +80°C
Humidity 100% @ 25°C
Lightning protection DC ground

Radome color Gray-White
Radome material ABS, UV resistant
Weight 0.825 kgw
Dimensions 240 x 240x 69.5 mm

Remove one default antenna
from the wireless device and

start to assemble!

Wall mount

-180°

Package Contents:
- ANT24-1400 Antenna
- Extension Cable ( 50cm )

- Mounting Kit
- Surge protector
- Water-proof tape

- Quick Installation Guide

180°

Overlook

g

Horizontal coverage Vertical coverage

90°

-150°

Vertical Horizontal

Installation Note:

Required parts for wall mounting:

. ANT-1400 antenna body with 2 screw holes
M-shaped metal fixing

spring washers 8mm

bolts M8 x 12

steel tubes

8mm washer

bolt M8 x 110

nut M8 with lock washer

bolts M8 x16 with lock washer, washers and nuts
10. bolts M6 x10 with washers

11. 6mm washers

12. triangular stand

13. half-round metal stand

14. wall screws

15. plastic wall anchor

©CENOOAWN

18



ANT24-Series

D-Link ANT24-1400(cont.)
Outdoor Directional Panel Antenna

Pole mounting
method 1.
T

Pole mounting
method 2.

19



ANT24-Series

D-Link ANT24-1500 Outdoor Omni-
Directional Panel Antenna

Electrical specification

Frequency Range 2400~2500 MHz
Impedance 50 OHMS +5Q
SWR 1=1.3 Max

Gain 15 dBi
Radiation Omni directional
Polarization Vertical
Mechanical Properties

Connector N ( FEMALE)
Weight 1050 g

Radiator Copper
Radome Fiberglass
Mounting Zinc

Guide Pipe Aluminum Alloy
Bracket Aluminum Alloy

Magnetic Attach

©

HexPI
e
‘Elastic washer -
AbAluminum. =
tube cli
;,»«Q:

Package Contents:

- ANT24-1500 Antenna

- DHF extension cable(3m, N
- Mounting kit

- Waterproof tape

- Quick Installation Guide

©—\s\.pmmu é
polectincluded)

®

sisscross
screv

Elastic vasher
A6 Aluminum mmég

-
-
male-RPSMA)

/o '\\‘
N

Horizontal coverage

Vertical coverage

E-PLANE FIELD PATTERNS

H-PLANE FIELD PATTERNS

20



D-Link ANT24-1800
Outdoor Directional Panel Antenna

Electrical specification

Frequency range

2400 MHz - 2500 MHz

Gain 18 dBi

VSWR 1.5: 1 Max
Polarization Linear, vertical
HPBW / horizontal 15°

HPBW / vertical 15"

Front to back ratio 26 dB
Downtilt 0°

Power handling 50 W (cm)
Impedance 50 Ohms
Connector N female

Environmental &

Mechanical Characteristics

Survival wind speed | 216 km/hr
Temperature -40°C to +80°C
Humidity 100% @ 25°C
Lightning protection DC ground
Radome color White

Radome material

ABS, UV resistant

Housing material

Galvanized Iron, Fire retardant

Weight

1.6 kgw

Dimensions

360 x 360x 16 mm*®

Remove one default antenna
from the wireless device and

start to assemble!

Wall mounting

\

o

@ Mounting base - 1 PC

@ M4*8 screw+W+S/W - 4 PCS

@ Space keeper - 4 pcs

@ M-shape mounting - 1 pc

3/4" screw - 4 pcs

® Plastic wallplug - 4 pcs

@ M6 W -4 pcs

Pole mounting

Mounting base - 1
Space keeper - 4 pcs

Pole mount clip -
M6*60 screw - 2 pes
M6*16 screw - 4 pcs
M6 S/W - 4 pes

M6 W - 4 pcs

c

PC
M4*8 screw+W+S/W - 4 PCS
V-shape mounting - 1 po

P

Overlook

Horizontal

Package Contents:

- ANT24-1800 Antenna

- Extension Cable ( 50cm )
- Mounting Kit

- Surge protector

- Water-proof tape

- Quick Installation Guide




ANT24-Series

D-Link ANT24-1801
Outdoor Directional Panel Antenna

Electrical specification

Frequency range 2400 MHz - 2700 MHz S
Gain 18 dBi Q
VSWR 1.5: 1 Max
Polarization Linear, vertical
HPBW / horizontal 15°
HPBW / vertical 15"
Front to back ratio 25dB
Power handling 10 W (cm)
Impedance 50 Ohms
Connector N female Overlook
Environmental & Mechanical Characteristics
Survival wind speed 216 km/hr
Temperature -40°C to +80°C
Humidity 95% @ 25 C°
Lightning protection DC ground n» et
Radome color White
Radome material ABS, UV resistant j
Weight 3.5 kgw
Dimensions 1000 x @89 mm Horizontal coverage Vertical coverage

Remove one default antenna
from the wireless device and
start to assemble!

Installation Note:
1. Main body

2. Angle mounting
3. Mounting bracket
4. 2" pole clamp

5. M8x 20 bolt
6
7
8

. M8x 110 bolt

. M8 nut

. M8 washer
9. M8 spring washer
10. M6-95 screw
11. M6 nut
12. Band clamp

Package Contents:

- ANT24-1801 Antenna

- Extension Cable ( 50cm )
- Mounting Kit

- Surge protector

- Water-proof tape

- Quick Installation Guide 77 4 Horizontal

==

incorrect placement

22



ANT24-Series

D-Link ANT24-2100
Outdoor Directional Antenna

Electrical specification

Frequency Range 2400~2500 MHz
Impedance 50 OHMS +5Q
VSWR 1=1.5 Max
Gain 21 dBi
Radiation Directional
’
Polarization Vertical W) "i'l'
-1
Physical Properties TN
Connector N-FEMALE
Weight 4.21kg
Radiator Steel
Radome Fiberglass
Size ®610mm x 150mm .
Bracket Stainless Steel o
8
[
) 0y
Magnetic Attach \
=y Horizontal coverage Vertical coverage

E-PLANE FIELD PATTERNS

¥ 5 G é g
5 “‘ [750%s
RSB
LSS
Package Contents: ] ===~§‘A Z)’é&“
- ANT24-2100 Antenna BRSNS =)
- DHF extension cable(3m, N male/RP-SMA) %;
e LSS
- Quick Installation Guide 8 éa :

23



ANT70-Series

D-Link ANT70-0800
Dual-Band Omni-Directional Antenna

Electrical specification

Frequency Range 2400 MHz - 2500 MHz | 4900 MHz - 5470
MHz

Gain 8 dBi 8 dBi

VSWR 2.0: 1 Max.

HPBW / horizontal 360°

HPBW / vertical 15°

Polarization Linear, vertical

Power handling 5W (cw)

Impedance 50 Ohms

Connector N Jack

Environmental & Mechanical Characteristics

Survival wind speed 216 km/hr
Temperature -40°C to +70°C
Humidity 95% @ 55°C
Radome color Gray

Radome material ABS, UV resistant
Weight 3509

Dimensions 80x78x870 mm

Horizontal coverage Vertical coverage

H-plane Co-polarization Pattern
2.4 GHz:

Pole(max ¢=50mm)

1.Antenna body
2.M5-0.8 nut

3.M5 Washer

4.M5 U-Type Screw
5.Screw

6.Anchor

Wall

V-plane Co-polarization Pattern
Package Contents 2.4 GHz: 5 GHz:
-D-Link ANT70-0800 Antenna -
-Extension Cable(50cm)
-Surge Protector
-Mounting Kit
-Water-proof tape
-Quick Installation Guide

24



ANT70-Series

D-Link ANT70-0801
Dual-Band Omni-Directional Antenna

Electrical specification

Frequency Range 2400 MHz - 2500 MHz | 5400 MHz - 5875
MHz

Gain 8 dBi 8 dBi

VSWR 2.0: 1 Max.

HPBW / horizontal 360°

HPBW / vertical 15°

Polarization Linear, vertical

Power handling 5W (cw)

Impedance 50 Ohms

Connector N Jack

Environmental & Mechanical Characteristics

Survival wind speed 216 km/hr

Temperature -40°C to +70°C
Humidity 95% @ 55°C

Radome color Gray \ N
P
Radome material ABS, UV resistant 5 “ ~

==

Overlook

Weight 3509 \ /
Dimensions 80x78x870 mm \\ /

Horizontal coverage Vertical coverage

H-plane Co-polarization Pattermn

Pole(max ¢ =50mm)

1.Antenna body

2.M5-0.8 nut

3.M5 Washer

4.M5 U-Type Screw

5.Screw ) .

6.Anchor Wall V-plane Co-polarization Pattern

2.4 GHz: 5 GHz:

Package Contents

-D-Link ANT70-0801 Antenna
-Extension Cable(50cm)
-Surge Protector

-Mounting Kit

-Water-proof tape

-Quick Installation Guide

25



ANT70-Series

D-Link ANT70-1000
Dual-Band Directional Panel Antenna

Electrical specification

Environmental & Mech

anical Characteristics

Frequency Range 2400 MHz - 2500 MHz | 4900 MHz - 5875
MHz

Gain 8.5 dBi 10.5 dBi

VSWR 2.0: 1 Max. 2.0: 1 Max.

HPBW / horizontal 58° 45°

HPBW / vertical 55° 45°

Polarization Linear, vertical

Power handling 5W (cw)

Front to back ratio 15dB

Downtilt 0°

Impedance 50 Ohms

Connector N Jack 2.4 GHz:

Survival wind speed 216 km/hr
Temperature -40°C to +80°C
Humidity 95% @ 55°C
Radome color Gray
Radome material ABS, UV resistant Horizontal coverage Vertical coverage
Weight 150 g
5 GHz:
Dimensions 114 x124 x 40 mm
r
|
Horizontal coverage Vertical coverage
H-plane Co-polarization Pattern
2.4 GHz: —zaou. 5 GHz:
(o 2

1. Insert the tapping screw (D to fix the whole
set of universal joint on the wall

2.Rotate the mounting base of the antenna to connect
antenna body and universal joint

3.Fix the mounting base by rotate the rotating
handle @

4. Adjust the ball joint () o the convinent angle
Rotate the handle to fix the ball joint @

V-plane Co-polarization Pattern
1. Taping Screw

2. Rotate Handle
3. Ball Joint

4. Rotating Handle

Package Contents

-D-Link ANT70-1000 Antenna
-Extension Cable(50cm)
-Surge Protector

-Mounting Kit

-Water-proof tape

-Quick Installation Guide

26



ANT70-Series

D-Link ANT70-1800
Dual-Band Directional Panel Antenna

Electrical specification

Frequency Range 2400 MHz - 2500 MHz | 4900 MHz - 5875

- " MHz - A NI 3
Gain 14 dBi 18 dBi
VSWR 2.0 : 1 Max. 2.0 : 1 Max.
HPBW / horizontal 30° 15° s
HPBW / vertical 30° 15° \ € g b
Polarization Linear, vertical
Power handling 10W (cw) ﬁ
Front to back ratio 15dB
Downtilt 0 2.4 GHz:
Impedance 50 Ohms
Connector N Jack
Environmental & Mechanical Characteristics
Survival wind speed 216 km/hr
Temperature -40°C to +80°C cﬂx
Humidity 95% @ 55°C Horizontal coverage Vertical coverage
Radome color Light Gray 5 GHz:
Radome material ABS, UV resistant
Weight 400 g
Dimensions 200 x218 x 50 mm

Horlzanlcag:overage Vertical coverage

H-plane Co-polarization Pattern

1. Antenna Body

2. M-type Stand 2pcs

3. M8 Spring washer 2pes

4. M8 x 12 screw 2pcs

5. Steel tube 1pcs

j mi w?i;y :MS V-plane Co-polarization Pattern
X screw pcs -

8. M8 nut 3pcs 2.4 GHz: . 5 GHz:

9. M8 x 16 screw 2pcs

10. M6 x 12 screw 4pcs

11. M8 washer apes Package Contents

12 Triangle stand -D-Link ANT70-1800 Antenna

13. Main stand -Extension Cable(50cm) -

14. Screw 2pcs  -Surge Protector

15. Plastic conical anchor 2pcs -Mounting Kit

. Hose Clamp 2-1/2" —Water—proof ‘ape
-Quick Installation Guide

>

27



Fresnel Zone

Line-of-Sight (LOS)

Visual and RF Line-of-Sight ( LOS ) between the sending and receiving
antennas is essential in achieving long range in wireless communication
systems. There are two types of LOS that are generally used to describe an

environment:

Visual LOS is the ability to see from one site to the other. It requires only a
straight liner path between two points.

RF LOS requires not only visual LOS, but also a football-shaped path free of
obstacles for data to optimally travel from one point to another.

Fresnel Zone:

The Fresnel Zone can be thought of as a football-shaped tunnel between two
sites that provides a path for RF signals.

Antenma 1 Antenmna 2

In order to achieve the greatest range, the football-shaped path in which radio
waves travel must be free of obstructions. Buildings, trees or any other
obstacles in the path will decrease the communication range. If the antennas
are mounted just barely off the ground, over half of the Fresnel zone ends up
being obstructed by the earth resulting in significant reduction in range. To
avoid this problem, the antenna should be mounted high enough off of the
ground so that the earth does not interfere with the central radius of the
Fresnel zone.

28



Fresnel Zone

How far above the ground and other obstacles the antennas need to be is
determined by the radius of the Fresnel zone. The radius of the Fresnal Zone
depends upon the frequency and distance between the two radios. The
following table provides approximate Fresnel zone radius:

In order to have LOS clearance, the combined antenna height should be_equal
o or at least 70% of the radius of the Fresnel zone.

Required Fresnel
Zone radius

Fresnel Zone Radius:

Range Distance between |[Required Fresnel Zone |Required Fresnel Zone
antennas Radius ( 2.4GHz Radius) |Radius ( 5GHz Radius)
300m 3.06m 2.12m
1.6Km 7.07m 4.9m
8Km 15.81m 10.95m
10Km 17.68m 12.25m
15Km 21.65m 15m

29



S8LIas Hd-¥Z LNV
$oUd3s NAO-YZLNY
salies g0-¥ZINV

SI 9|qed euusjue jeuondo

. — — - dS-VZINY - se10ssa02e |euondo
18)N0Y/dY 0} yoepy | oneubew/dopisep /lep | JeInoy/dy 03 yoeny | oneubew/dopisap / |lep ajod Buiien uonelnByuod Buunow yneyeq
- - - - NE Wz yibua) a|geo uoisualxe jnejeq
leuondo $100pJNo 10} J0j08j0ud 8BNS

6nid vNS-dd Bnid vNS-dd 6nid VINS-dd 6nid vINS-dY Yoel-N Yol YNS-dY J10J0BUL0D PBXI) BUUBJUY/|

- wopsL woQg| wooe - yibuaj aqeo |1eybig

G8A OLH 08A 89H 9/ 09€H 9€A 09EH ZEA 09EH 0ZLA 09€H UIpIM Weag Jamod JleH

- - - - W00z /WME' )L /WNMG' L - sdqps/ L1 VWWLMMWMWO%M_B_M%M@@

wog / WoSE /w009 wog/ WOgE /w009 w09 /WOGZ 0SS wog /WOOZ /W00S W09 /WOSZ /WO0S W 0p / W0 L/WOSZ T e e )
1p9 1gp9 1gpg 1apg 1gpg 1gps'e (sso| 8|qe9 InoyA) uleD

Ajuo Joopu| Ajuo Joopu| Ajuo Joopu| Ajuo soopu| Joop)nQ /100pu| abues uoneolddy/|
euusjuy [euonoalq BUUB)UY [BUONKOBII] |euonoalp-luwQO uwo Ayagoaup [eubig
ZHOY'Z ZHOY'Z ZHOY'Z ZHOV'T ZHOY'Z ZHOY'Z fousnbaiy
1v094-1Ma 0090-FZLNY 01050-PZLNY 10S0-ZLNY 0050-ZLNY LOYO-PZLNY SWEeN [8po

P

30



$OUBS M10-¥Z LNV
Sales NAO-YZLNY
Salss gO-vZINY

$8Uas M10-¥Z LNV
sales NAO-YZLNY
S3les gO-VZINV

S8Uas M1Q-¥Z LNV
salas NAO-YZLNY
S3les gO-¥ZINV

S)} 9|qeD BUUBUE [BUONO)

sel0ssa09e [euondo

m_on /IEM |lem /MOPUIA\ w_OQ /IIeAn al0d J18IN0Y/dV 0} yoeny 0_«mcmm_.c\no§wmﬁ NIem _._O_ﬁm._:m_t._cu m:_E:OE Jnejeq
wops e e woQs - yibuaj a|qed uoisusixe jnejeqg
papnjou| - papnjou| papnjou| - $100p}No 0y J0jo8j0.d B6ING|
Yoel-N Yoel vNS Yoel-N Moel-N 6nid vINS-dd 6nid vINS-dY 10J0BUL0D PaXI} BUUBJUY/|
woog VN wooe YN woEG ) woGL ybus) a|qe |iejbid
0SA 0SH €2/ 08H S9N OZH GLA 09€H $ZA 09€H YZA 09EH YIpIM Weeg Jomod JleH
WL /WNG'Z / WHE wQ09 /WNG'L / WNG'Z W0y /WL / WHZ sdqps/ Ll \Amm_mmmmwomﬁa_wﬁ%
W00 AUNZ ) /WHG'L | WG| /WO0S /WO08 | WOOL /WOSE /WOOL | WIOZ WIOOE /009 WOQ/LIOSZ /0SS T S ]
1arzL 1apzl 18Ps'8 1apg 1apL 1ap. (ssoj 8|qe Jnoyun) uleo)
Joopino Ajuo 100puj JoopnQ /ioopu| JoopinQ /1oopu| Ajuo soopu| Ajuo Joopu| abuel uoneoyddy/|
|euonoaiq |euonoauq |euonoalp-luwQO |euonoalIP-IUWQO |euonoaIP-IUWQO auIp |eubig|
ZHOY'Z ZHOY'Z ZHOY'T ZHOY'T ZHOY'Z ZHOY'Z Kousnba.y
L0ZL-YZLNY 00ZL-VZLNY 1080-VZLNY 0080-YZLNY 00020-PZLNY 00£0-ZLNY aweN [8poy
L]

31



S8L8s MI1d-¥Z LNV
sauss NAJO-YZLNY
9S §0-¥ZINV

SaUSS MW1Q-¥Z LNV

S8l8s MId-vZ LNV

S8U8S M1Q-¥Z LNV

Uss M1a-vZ LNV
9S NAO-YZLNY
$dl8s g0-¥ZINV

sl
S

S} 8|qeD BUUBJUE [BUONO)

sel0ssa09e [euondo

a|od ajod ajod /llem ajod ajod /jlem uonenByuod Bununow jjneyeq
ne woog woQg We wog yBus| a|qeo uoisuslxa Jjnejaq
papnjoul papnjou] papnjou| papnjou] papnjoul s100pJN0 I0} J0joaj0id abing
yoel-N Soel-N Noel-N Soel-N Noel-N 10}0BUU0D Paxy) BUUBUY/|
wope yibus| s|qeo |1eibid
8N\ GH SIAGIH SLAGIH 8A 09€H 0EA 0EH Uipim wesg Jemod JeH

WING'Z /WM6E / WHZL

WMG | /WM / W38

WING'| /WM9 / WHG

WO0S /WG / Wty

WML /WNGY [ WH9

E<_SE=OE_>> e_s\%
sdawpg/ LL /1 e eBuey ejewixoiday

( v Jo0pu] yim SHIOM )|
sdawps /1L / | e ebuey ﬁmE_xe%,\

1gpLz 1gpgL 1gpglL 1gpsL 1apyL (ss0| 8|qED INOYMAN) UIED
Joopino Joopino Joopino Joopino Joopino abuel uoneoyddy/|
|euonoalig |euonoalg [euonoauq |euonoRlIP-IUWQO |euonoauq auIp |eubig|
ZHOY'T ZHOY'T ZH99'y ZHOY'Z ZHOY'T Kousnba.y
0012-vZLNY L08L-PZLNY 0081-vZLNY 0051-FZLNY 00YL-yZLNY aweN [8poy

32



*90UBI9§a1 Bl saINBl SA0Ge B JusWUOIAUS [EDISAYd slasn Aq pajosye aq (|im sBuel [enjoe sy

ulsped aueld [eaiuan : A ‘uleped sueld [euozuoy : H "YIPIM Wesd MG,

(1s0] 8|qe0 — UlEH BUUS)UE + Jamod INdJNO BJIASP = JaMOd Uolelpey J1doljos| Pajoal )dy|3 Uo paseq abuel aAndayg ‘¢,
“JUBIUOIIAUS JyBis— Jo-aul| 9314 Jopun $SO| 8|qed JNeJap Y)IM SEuusjue dads awes om} ay) uo puadap Jybiw aBues 8oue)sip UOISSIWSUEBL} 8Y ] "2,
‘SS0| 9|qED }NEeJap Yim (dy Joopino ) €2 ‘(dV Joopu| )wgpgl 1emod IndinO-4 Uo paseq aoualayal abues papusixd'|,

‘310N

S3USS MW1Q-¥C LNV
sales NAO-YZLNY
salss g0-¥ZINY

S3LBS MIA-¥Z LNV
sales NAO-YZLNY
Sales gO-VZINV

S8LI8s MId-¥Z LNV
salss NJO-YZLNY
salies g0-¥ZINV

SaUSS MW1Q-¥C LNV
sales NAO-YZLNY
salss g0-vZINY

S} 8|qeD BUUBJUE [BUONAO)

S0110SS999€ [BUONO)

ajod ajod a|0d ajod uopenByuod Bugunow jjneyeq
woog woog woQg woog ybua| a|qeo UoIsusIXa Jnejaq
papnjou] papnjou| papnouj papnjou| $100p}N0 10} J0j08j01d BBINg
Noel-N oel-N oel-N Noel-N 10}09UU0D PaXI) BUUSIUY|
VN WN VN WN yibuaj a|qeo |ieybig

SLA GIH :ZHOS
0EA 0€H ‘ZHOV'C

SPA GGH ‘ZHOS
SGA 8SH ‘ZHOY'C

SGIA 09€H ‘ZHOS
SLA 09€H ZHOV'C

SLA 09€H ZHOG
SLA 09€H ZHOY'C

IPIM Weag 18MOd JleH

WHMG'| /WHG /WM ‘ZHOSG
WML /WSy /M9 ZHOY'C

WwoQg /WO0L MG’} :ZHOS
W00z /Wo0S M ZHOY'C

w00z /Wo0S /ML ZHOS
WS | /WOSY /w008 :ZHOY'T

Wwo0Z /W00S /M) -ZHOS
WG| /WOGY /w008 :ZHOY'T

(dY 100PINO Lpim wfo%
sdawpg/ LL /1 e abuey ejewixoiday

WQSZ /W09 /MZ') *ZHOS
WwoS} /W00y /w008 ZHOY'C

WwoQzZ /W00S M} 'ZHOS
WOl /WoSE /WO0L ZHOY'T

wooz /Wo0S ML ‘ZHOS
WOl /WOSE /WO0L :ZHOY'T

(v J00pu| yym SHION )
sdawps /1L / | e ebuey Eme_xo_%,\

s R, SR, st oy e

JoopinQ JoopynQ /loopu| JoopynQ /1oopu| JoopinQ /loopu| abuel uoneoyddy|

Jeuonoallq Jeuonoalq |eUOROB-UWO JeuORoBIId-IUWO Ayanoauip [eubis|

ZHOG [ZHOY'Z ZHOG /ZHOV'Z ZHOG /ZHOY'Z ZHOG [ZHOY'Z fouanbaiy

0081-0LLNY 000L-0LLNY 1080-0LLNY 0080-0LLNY SWweN [9poN
L L]

33



(Appendix)

w
NN

CONNECTORS OUTLOOK

RP-N Plug N Jack N Jack

N Plug

'k

'||.::illlll||Ii

I \ml.‘

RP-TNC Plug

RP-SMA Jack (D-Link AP/ Router )

RP-SMA Plug

©




